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LHE s 45 48 93] 22.8 | 70.2 36 29| thAt fli— 47 49 96| 20.4 | 75.6 44
USRS S 46 49|  95/24.0 | 71.0 42 30 AL PRELA 46 43| 89/13.2 | 75.8 24
3 ILiE FHHE 44 43 87| 15.6 |71.4 20 31|fex R 2 42 47 89| 13.2 | 75.8 27
4130 AfF— 39 46| 85/13.2 |71.8 17 32| & Fn HE 48 45| 93] 16.8 |76.2 33
51U &Rk 39 39 78| 6.0 | 72.0 3 33|KE il 47 46| 93]/ 16.8 | 76.2 34
6|H HC 42 41 83/ 10.8 |72.2 10 34| AH ¥ 42 43 85| 8.4 |76.6 15
7= FEW 45 43 88| 15.6 |72.4 21 35|41 15 A 47 47 94|16.8 |77.2 38
8| AKy 5L 42 39 81| 8.4 |72.6 6 36 | LAy Bk 41 40 81| 3.6 |77.4 7
9| HIRF A 47 46|  93/20.4 | 72.6 35 37/ E 44 43| 87| 9.6 |77.4 19
10|38)11 B 41 39 80| 7.2 |72.8 5 38| B 48 45 93| 15.6 | 77.4 32
11|30 21E 40 46| 86| 13.2 | 72.8 18 39 EHs IEA 51 54| 105/27.6 | 77.4 50
12| [T JR=EB 46 46|  92/19.2 | 72.8 30 40|FH HHE 50 61| 111/33.6 |77.4 53
13| 7k 5+ 42 43| 85/12.0 | 73.0 16 41| Pl 22+ 47 44/ 91|13.2 | 77.8 28
14 | FhH B 41 37 78| 4.8 |73.2 2 42| HiwE 47 50 97/ 19.2 | 77.8 45
15| HF e 42 41 83| 9.6 |73.4 9 43\ ML [EFH 52 51| 103]25.2 |77.8 48
16 | B B 46 43 89/ 15.6 |73.4 25 44 | WEIR {8 49 45 94|15.6 |78.4 37
179 E ' 43 41 84| 9.6 |74.4 11 45 \%25m 3Lk 53 51| 104|25.2 |78.8 49
18|/ 2 — 41 43| 84| 9.6 |74.4 12 46|ty 1IEBH 47 48| 95/ 15.6 |79.4 41
19/ AW Bz 44 39 83| 8.4 | 74.6 8 47135 B 61 52| 113/33.6 | 79.4 54
20 | FAAR Fnot 43 46 89| 14.4 |74.6 26 48| =R AT 43 49 92/12.0 [80.0 31
21| AR B 39 37 76| 1.2 |74.8 1 49| K& A 48 47 95| 14.4 |80.6 40
22| FH R 45 43 88| 13.2 | 74.8 22 50 e EE 45 50 95| 14.4 |80.6 43
23 TH =FE 43 45 88/ 13.2 |74.8 23 51| KFE B5F 47 53| 100/ 19.2 |80.8 47
24| —H LR 41 39 80| 4.8 |75.2 4 52|'EA ZHE T 59 57| 116[34.8 |81.2 55
25711 T 46 46|  92]/16.8 | 75.2 29 B3|ILIF ik 48 62| 110/ 28.8 |81.2 51
26 | Rl 1% 44 41 85/ 9.6 |75.4 13 54110 1EE 49 46| 95/ 13.2 |81.8 39
27| #5L4 43 42 85| 9.6 [75.4 14 55| L)1 & 54 57| 111]28.8 |82.2 52
28| EH 47 50 97/ 21.6 |75.4 46
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